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(Stock Turnover Ratio of a concern is 6 times. This expression of the ratio is :)

(31) R[x 3A]UId (Pure Ratio)
@) T & =Y H (Rate Ratio)

() Ufaerd & U H (In the form of the percentage)
(@) E’Hﬁ q ﬁ"ﬁf el (None of these)

IW- @)
T 2. 3JUTd fIRAYUT T IR 8

(The objective of Ratio analysis is : )

(3f) dcIdl fufa &1 I (Knowledge of liquidity position)
(§) dHaI—R Tl DT AT (Knowledge of Profitability)

() Y &FdT BT I (Knowledge of solvency position)
(@) G'Cl?j?ﬁ gt (All of the above)

3T- ()

U 3. U DI IRGAT Hd GG 99 TH A fag F 9T ga Hg ATH-g1i+ faavor
< ot ST 8, < THT SguTd B &-

(At the time of calculating ratio, one item is taken from balance sheet and other item is
taken from statement of Profit and Loss, then the ratio is called :)

(37) FIgT 3{UTd (Balance Sheet Ratio)
() ATH-BIH fdaRUT SUTA (Statement of Profit and Loss Ratio)

() Fgad 37UTd (Joint Ratio)
(@) E:Iﬁ q ﬁé el (None of these)

3T- (Y)
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(Another name of working capital ratio is : )

(3f) dxef 3AJUId (Liquid Ratio)

(of) T 3IJUId (Current Ratio)

() Ui cRadT 3T (Absolute Liquid Ratio)

(@) Wﬁ;ﬁﬁ 3Tad S3{JUld (Working Capital Turnover Ratio)

3T- (9)

W 5. 3MMeRI I SrFUTd /T SI1al 8

(Ideal Current Ratio is assumed :)

(3) 3:1
(d) 1:1
() 2:1
(c) 1:2.

FW- (F)
WY 6. TRA JUTd B T0FT Hd 994 0 § & forey geafy &t e 981 3t o @

(Which of the following assets is not taken into consideration to calculate liquid ratio :)

(31) ¥h ¥ (Inventory).

@) &R (Debtors)

() AHS (Cash)

(@) 9T fdu= (Bills Receivables)

3TR- (3)

UY 7. Uh SHA] P UEP B! IYR @iy 30 a7 g1 T8 o1 =P 4 g8 @RIe a7
A= A, afe saet sitad Jugur afy |

(Credit period to customer of a company is 30 days. Its credit collection would be poor if
its average collection period is :)

(37) 36 f& (Days)
@) 28 & (Days)
() 20 f&H (Days)
(@) 15 T (Days)



3R~ (30)
w9 8. afe 365 fa1 W =uTuTive Sgar smad SrguTd T U ¢ df 98 SJUTd M

(If the Trade Payable Turnover Ratio is divided by 365 days, it become a ratio of ;)

(31) ITh P 3G 3Mafy (Average age of Inventory)
@) 39d YUY 31af¥ (Average Collection Period)

€3)) 3d HidH 37afe (Average Payment Period)
(@) Id UG 3@l (Cheque Collection Period)

IqR- (¥)
WY 9. Tfe Th HHT BT IRATA UTd 78% § 1 SHPBT URATA ATY 3UTd FHI

(If operating ratio of a company is 78% then operating profit ratio will be :)

(31) 100%
(o) 22%
() 28%
(@) 24%.

3TX- (d)

Y 10. TH S BT W~ Tad SJUTd 4 § TUT SHB! JATa A FTH Dt ARTd
2,40,000 § o 3 d TH=I g

(The inventory turnover ratio of a company is 4 and its cost of revenue from operations
is 2,40,000 then average inventory will be :)

(31) 9,60,000
(sf) 1,80,000
() 1,20,000
(@) 60,000.

MR- @)
Y 1. GRIT & W & HI6) U o Gl & A TG o Bl 8

(The relationship between shareholder’s funds and total assets of a concern is expressed
by :)

(31) U1 JHAT SHJUId (Debt-Equity Ratio)



(@) MY &I 3UTd (Solvency Ratio)
GIRSIGE S3{UId (Proprietary Ratio)
(@) WG N IR YT (Rem on Proprietor’s Funds)

3T (Y)

Y 12. TPH BT BT Ul 3T 3ol 6 TUT Ui 3= ATYIRT 4 B @l ATHIRT YITa™
U BRI

(If earning per share of a company is 6 and dividend per sbare is 4 then dividend payout
ratio would be :)

(31) 50%

(o) 25
() 50%
(Q) 66.67%

3T- ()
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SHR- ol 3uTd forg o <t TR &) Al a1 el & THg & Hed 91 hd 9Id § S8 1ot
AT Hed & | 37T gurT A gt srqurd ot ]

W 8. TH= ATAd T PA Had & ?

IR~ od T A1 B AN TS S Wh=~ o T TR B UeiRid R arel 3uTd &l
TH=] STad AT 5 &

Y 9. 3N TIGVT 3raf frd Hed § 2

FR- 3T TR fafey T T 3fd aant 3afy I gian & o) 98 U 9adi & fb
TR fraq ol #f SAeRY § A aqa o= urdt 81 T8 31afe fora &1 grft SeR 3aA &
3 HH S|

ws 10. fepar=iiear srura = eRia Ha 8 2

IWR- fpareiaar sruTd sraara § S el IR U STad & aul 39! 0T &I
TG 23T YT Pt S FafRy quUT Ha=ieh! & SRIGRICAT &l Hedih- &1 gidl & | 37
3FUTA! o HTeOH J g AT OfTal © {3 W7 7 SUA 1! g araff o1 HRIeargdes 3R
AHYS IUTNT fHar § 1 gt

Uy 11. 3N ATITRS YT | T ST 8 ?
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3! TUAT 9 T ¥ B Sl ®

. Opentng Debtor ‘sand B | B4-Closing Debtor s+ B ) R
Averse Receivable = 7

Y 12. IR SUTd A T 3R § ?

ITR- THT AT Sl HTUR & IR AFTd Ud U foeh! & AL T Dl g1 8 39
URETe 31U ad & | 39 9 I gRT U foan Sirar §

. . Costo f Good sSold+-Operating Exp
Operating Ratio = NetSales » 100

Y 13. fapa & TYR R 914 fFd 9 a1d & eryeraddr sruTdl & A fafed |

3TiR-

o el dTYH HJUId (Gross Profit Ratio)
o Y& dIH 3AJUId (Net Profit Ratio)

Y 14. I 3JUTd T R SJUTd | T 3R & ?

TR - TS 3JUTd Ud IR Ul T 3R (Distinction between Current Ratio and Liquid
Ratio)

3 BT ATYR 9qTe] SfgUTd X SguTd

T g 3IUTd 9T TRl 3R | I8 SUTd aval Jea ! auT
I STl & A AR | T I & Hed IR G
ST 3 &l

D] T8 U A A BT | T8 SIUTd R IHIRRN &b Ty
TH YT saf d ge &1 | 3Te et o YT &Y &
& STl ¢ | EaisiE!

3Rl T TS 3UTd 2:1 BT 3 AR STUTd 1:1 BT TSR AT
T ST & | s

NICCIE] S 3{IUTd &1 TTUFT Hd Y 3JUTd ! TTUFT HRd 9T
T G AU GAGRI BT | GAGRI BT A[AYFIYdd Gt
W@wiw FAT | HAT AR

|

Y 14. Ul 3= 3rd &1 g7 fafad

3T-



Ol 32T 315 &1 93 8 UhR §

On  Net Profit after Ent. and Tar—Preference Dhoidend
Earnlng Per Share = Noo of  Eguity Share

Y 15. TS dRA SJUIT FATE ? |
IR T R U 1:1 8

Y 16. TH S DI HUT GHAT 3JUTd 0:15:1 3| FHIT GRT SIHBTE BT A4 W
S99 3IUTd BT T U BT ?

FR- CHBIC F0T THAT SIUTT 1:1 F=iISorTes AT Il g | TR ot awma & woar
AT @ golt o1t siftres ghft aFeRi & fRufa Ia-t 8t srest Ud Sifdes JRférd <l | agl
TR B GAAT AT 0.75:1 8 S 1:1 W HH g1 3(d: B! gRT SrgebTa B0 o TR
HUEIdT B! fIaR &A1 T 9 BT o B JHw1/S &) qaheht

WY 17. ST AT AT T USRI Bl 8 ?

IR T8 30T HaUg H HBUIYR 61 SIIR & ATHI O Ta R o3l ¢ | T8 3urd
g I & Toh TG o1 M T SIS BT fbha AT ¢ | T8 SUTd foraT SHfe ST HTof
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TYTRTHD UY
T 1. TS 3JUTT 9 O JUTd H =R forfad |

xR~ T 37U Ud @R S{UId T 3R (Distinction between Current Ratio and Quick
Ratio)

3R BT YR T ST @fa ST

T gg 3UTd I ARl 8fiR - | I8 SUTd ave gegft aur
T STl & Hed = T STl & Hed =] Gt
ERIGI d

3 g SHUTd dT IRl H1 Th | I IUTd aRel TRl o 1Y
fAf3A orafy o govM DI &maT | ATe al@l o YA BI &l
AT g | EaisiE!

3eRl T 1] 3UTd 2:1 BT AT AFT | IR YT 1: 1 BT TG AT
ST B ST 5|




NICCIE]] X 3fIUTd ! TTUFT HRd THT | 9 S{UTd D1 TUET B 5
g quT GTaR! &1 SIER! BT AaUYdd Hedidh
:r%q i BT | AT dleT|

|

WY 2. 3UTd fIReUT T Hg Farsd |
ITR- U [T &7 Hed FF TPR & -

I & e SUTd fa=eivur o1 Hed i § Fifeh SUTd fa<asur & gRT &1 I8 I
T STTaT © T oawmg & IAfd 81 X! § 1 718! | SIuTd faRas T ¥ orawd ¥ oS g9 faftd
g8, SN-aFeR fafaieres, shdr-fashdr enfe sawma &1 wifa, sfdfe fRufa qur av-g &
IR H ST T U B T g 3(d: 3 (AN & AT F 3O Sfidhard dHRap
ey Hf SRR W HR THar g

Y 3. ST BN & YT B DI &HdT TR ST STA aTd SguTal & A1
fafa

ﬁ%a‘ﬁwﬁﬁ FUN b YA B B & TR UHIRI ST o e’ (5 Surd 311d b

o BUT JHAT 3JUTd (Debt Equity Ratio)

o TN &Har 3UTd (Solvency Ratio)

o WIHd S{JUId (Proprietary Ratio)

o YT gy S3{UId (Fixed Assets Ratio)

o S AN 3{JUId (Interest Coverage Ratio)

Y 4. 3JuTd fIzeyor 1 IR FHAe Farse|
FWR- U fIRQwor o1 IR e fFafafed §
o TH 3fobdl U & W Tgd
. o foama @ ywnfaa
o O & UG (G BT UG
. g & RO A |
Y 5. YT P B & DIF-DI W 7S TR P AT & 2

SWR- RYRG & By § Fafiiad 7d 2fee 1 ord 8




Shareholder’s Fund = Equity Share Capital + Preference Share Capital + Reserve and
Surplus — Fictitious Assets

UY 6. TS A ATH UTd 9 IS ATH JUTd BT A |

JTR- (1) Gobdl 1Y IUTd (Gross Profit Ratio) — Hbdl AT SUTd Jebdl ATH bl g fdchy

-~

TR 315 &HAT B UGRId BT &1 T8 SIATd Tg STl & 1o Sqau o SURTT Bl Bled
RESERE

GrossProfit
i i . )
Gross Profit Ratio = ~wersares~ % 100

(2) (G MY 3UTd (Net Profit Ratio) — I8 URETEH @Y & IR-UR=TE @y 3{udl 1R-
IRATE T BT JHRISH B & §16 U 61 SI1dT 8 | I8 SuTd Jryuf sawryg &
AT T BTG R BT Tdid ¢ | T8 ST fofaT 31 T e Bt
FHTIGRIAAT I+ o1 3BT gt

MNetProfit( AfterTax)
. . otk ! I
Net Profit Ratio = NetSales x 100

T 7. ST 3R ar saruriye wrer siad srquTd =1 uHTal o1 wefRia #warg 2

ITR- TUH IR & $d ¢GRI 9UT Y& SUR 96T T Tra= RIS HRP I8 J1d T STl
& {5 fasrg &1 fpa1 W SeRI & &u # sriufed X8 T |

3 TUE 31afY J1d PP Tg BRI B ollall § fob TR IYR fAhy bt I P SR I
fra Tra § 9Yd R o | I8 SMafd Yrrgdy: 3fafd (1 + IT& 1/3) M a1 et =nfed
| gfe 3 ugur 3afy 4/3 T 31w 3|

dl T8 T ST § fob B0T T8 § Ue & AToRaTg!, AHRadl A1 SUR &1 Ual | 3w
IR § | IS 01 aYEl 3fafd 4/3  FHH g df Ya=! DI HRIed], YiohadT d AR B SUR
I IS § | BUN B IGeht W G I BN &1 T3 1 FaHh AT ST 8 |
WY 8. 91 T WIS Bt ANTA BI TUMT {6 YHR Ft A1t 3|

IWR- 93 T A1 Dt ANTd i TUHET 9 UBR B St @

Cost of Goods Sold = Opening Stock + Purchase + Direct Expenses — Closing Stock
Or

Cost of Goods Sold = Sales — Gross Profit



ue 9. fafraifora Uoft &1 ord Tarsad aut 39wt AT fFY UeR &+ Sl 8 2

TR~ Ay | Yuit fafirs fafaisien! o el 3 U &1 Sirdl § 1 3fd: Sqaarg | UIwd &1 715
Uoit (faftr Aregen) &1 fafraford doft gt ST €1 39! TTUFT Y9 § TSR I &1 ol &

. QI U&f | UM (Calculation from Liabilities Side) — THT 3T Yoft + .
371 Goit + ¥ Td SRI + dIdobTelle BT - P Fefrdl - IR ARe gl
T gl & %9 8 S UsiTd a1q B Ud IR-SHTaTRe fafan)

o  gERI U Y U] (Calculation from Assets Side) — %Wﬂmﬁ[ + fafam +
T TR — AT &I |

e 10. TR AT 3T &1 3 vd wew forfad

IR IRATE AT SUTd DI Y URATeH ST 30T Hf F8d &1 59 30T &I f[ahd R
IS IR a1 & Ao & A 9§ o ST ST 8 1 98 SuTd U fashd IR Y uiRaneH
Y BT &R UGRId BT 5|

- TR T I & Y-y 3= Bt H T 1T R Al 81 39 U
DI AT 3 G T | 37 IR-AUIRSG Bl F 814 a1t 319-o93] B! afferd el fban
ST 31Uf Had Y TRETe arH & YR TR 81 I8 ST J1d T ST g |

Y 11. TP TR JRIT BT W6 ST 3IUTd 15 AT @ TUT 39 3N ¥ BT
T Rs 20,000 8| AT fIshd Ted R 25% ATH U 91 SI1AT @ | 14 Dt 0T B |

3xI¥- Stock Turnover Ratio

- Cost of Goods Sold
Average Stock
15 X
1~ 20000 3,00,000

P e = 17039 x 3,00,000 = 4,00,000

a1 s g 100 § @19 25%
100 — 25 = T qe4 75
25

fesra &9 T 25% &9 = 4,00,000 X 100 = 1,00,000



Y 12. TH S Dt BRI Yoit 90,000 81 fS SHBT AT SUT 2:5:1 T af =TS,
qrfal B 7oA Hiford |

JdR- Current Assets = Working Capital + Liabilities
T Liability x 8 A Assets 2.5x

2:5x = 90,000 + x

2:5x — x = 90,000

1:5x = 90,000 + 1.5x = 60,000 Liabilities

TR 2.5 TG

60,000 x 2.5 = 1,50,000

Y 13. TP AT BT YRIRIS i 20,000 auT 3if=w Ygfaar yrRfBe gfad &1 1.6
T 8 | TH=Y AT, 3UTd 3.5 AT, {364 1,40,000 & df IHd ATY Pt TUMT BRI |

3R~ So Stock Turnover Ratio = AverageStock

3.8

= TOW(20,000 + 32,000 + 2)

x = 26,000 x 3.5
Cost of Good Sold x = 91,000

Sales = 1,40,000
Gross Profit = Sales — Cost of Goods Sold
Gross Profit = 1,40,000 — 91,000 = 49,000.

Y 14. TP B Bt Ho GWRAT Rs 80,000, TR AT SIRIE Rs 2,00,000 TAT AT,
SR Rs 1,00,000 B <t ST &

1. B0 9T 3{UTd
2. WIH@ SUTd &1 0T B |




. . _ Total Debts
L Debts Equity Ratio = Total Eauity Baquity

3,00,000 Y
500000"06'1

_ Total Capital
2. Propritory Ratio Total Assets

5,00,000
-_—all L —
~ 8,00,000 =0:023 51

Working Note—
For Calculation of Total Capital

Balance Sheet

Liabilities Amount | Assets

Amount

tn
Non-current Liabilities 2,00,000 | Assets
Current Liabilities 1,00,000

Capital (Balancing figure) 5,00,000
8,00,000

%
8,00,000

| 800,000

fe=me® Uy
T 1. 3JUTd fIReIyvT F47 § 2 SHPT Hed qarsd | |

3uTd fazayor “faarun @ el ud Hel & Tig H IR &l 0 U H Uafid
aﬂﬁﬁaﬁ%%@?ﬂuﬁ@wﬁﬁﬁﬂﬂwwaﬁﬁ?ﬂu@rﬁrmwm%

31d: 38 foxitg srqura +f Fed B

WW%WHW/GWWIHI (Advantage/Importance/Utility of Ratio Analysis) :

3T fazawor & He@ & Fafafad fargart & Wy fear s e g -

. GaigaM Td e | Sgrie-Us IRI1 & o o, It A si1fe &1 gaigae

JYT 391 fAdH a1 & Fulg /9 SruTd fazas o Agayuf 3|

. ol o Sere-srurd faxawur & gR1 fHufes &1 &1 guTaRITel SHrT ST e

gl



. GHDI BT RGN SIUT AATh THB! ! R, Wi U9 IR B g oy
fob I Tb HIYRU AT & gRT H GHY T b |

. JATIEHSD IHT H gD SUTd =0 b Hgradl ¥ ol Heufal ot foiia Rufd
DI JAT HRP T Tl TIT ST GbdT § fob DIH-Tt BT Yeg o

o TSI T YEADH-SUTd & I Y Ua=ich| ol AT ! fafafdrd ol Iog@ ud
FHRIGRIAA BT T H Hag fHadl 8| ST & fa=eloor ¥ Jaid! &I e,
g, i 4iRor 31fE Bt B BT S g1 A g

. BRI Jeid H TeReH-3JUTd faay0r gRT a1 Sraedl &1 Jedid-
3T S Taha g1 S SIIUTA! & GRT AT &1 HH! PI gR fHaT S YT § T
A AT B gUTE &1 ¥ fehanf-ad far ST a6

o IR YT BT I BH1-3IUTd fa=eiyor 1 Yeradl ¥ Ueb ST &1 aredl o) fRUfd
T U1 ST ST Febell © | T TR 3T AT 2T T YT 31 38 8 W
3 A gud g o I Radar fFRufa s At Sl 81

o CIBTCl [N &N BT HTY SUTA fA=T0T WA Pt Sieiabrei faxiiyg fRufd &1
Tegihd R | Ht 81 81d & | 3H UBR Bl THGRI AGRI TUT aA Tg HTd!
fafarsien & fore Iuaih gidt &

. TANTHAIsH & oI IUgad STHBRY UM BT HHHl i § I 3@ ard
Hfad, SRI—3RIYTRY, TER 3M1fE T SrUTd [aRAwor g Agdqul SHeRI UaH o
g R i 3 ool & aR § widwr & Suged Fofa o o |

. IH9g § YeT® A UTd ¥ H-ad § §gd Yeradr et 8 S fo et
IR T gUTEYU Ta & ATT 3= MTa=I® ¢ | U@ SI0Td! & Hed Ul S arl
TS BT TN afe e § far S @ ST SHfeday ary Ui & gl g

. AF® YR T TgE SUTd fa=eivur & H1eqd ¥ a9 &1 A S RIedl
@ e H W) A o ) fuem & Ae Auiid a1 S &) Sar B

o S I@E AT 3 U] Dl ATH-SUTA! o TINT Y HRIT H B TG dTed SHT<IRP
([@HARY, SRBRT 3fe) Td STe el (faiotas, Burgrar $i1fe) o oft e giar g

e 2. 3rguTd fazeryor 31 Ward e

JdR- 3JUld ICEGLIYI ﬁ?ﬁ'ﬂﬁﬁ (Limitations of Ratio Analysis) :
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o 3Pl AT DI T Ag@-Uh SguTd bl T &1 Tigui ot UafRia gt vl
21 3T IHET ¥ grafAd it 3rudl W AR R famm te € Srurd & SMuR W
T T fsey RUfA &1 Wi o IRgd |

. TONTS fARCINUT T ST ST ot T T URHATONG Uel TRgd el g,
U el U -Ta! Rl & | oI for! TRT &1 BT & o foTe Qe et 3faTd
I gRATTES (U BTl 1 81 TR oifch 39 TRIT B YaR—IBIT A1l qUTl
SR & T~ B 1 -Te1 g

. o femma I yvifad g1 femma o1 g faxfia ol R Usar 31 3id: fazawor
B THY 3 fearal W & g & A1fe |

o 3 Tl BT 3UTE-TH UHR Bt Y1 & forg fobdl Ueb 3UTd 1 UHTd SUTd
ﬁéﬁwmﬁfuﬂﬁw&ﬁ%&wwwﬁ@m%&wwﬁﬁWW
ERNSEICIIHY

o UAHTA &b YR TR U SFHHSAT DT TUHT YdBTel d2i o YR TR B
STl 8 39fert 58 adH Ud HiasT & o v 6= S T8t slar ol

. foxcve &t cafaad divadT Td yeard &1 UHTa-forayur, fazey® & aradr T
u&rwigquﬁaﬁﬁ%wmmﬁ&éwwﬂna@wwﬂ@wﬁﬁ
BT |

. HId FO GAAN-3FFUTd fazeivur faiy faazon & fAfgd bad po gamsi w
3R B1aT & S fob e B

T TR IR o1 THTT Jed TR H GRad- SUTdl & ga-iadl & THTad Hed

. 8, SN—U% U1 = TR HH o0 W Y & §, 98 31 Y i safe
3IfIP T TR THT 068 - arelt AT HH YA SRIRAT |

. = % fore arem w U faxayor a1 8 wred 7 || 3 faxays &l
TR gl o1 yafed Tieror o A1 ARy 3T YA Fshy Fed Iahd g

wy 3. forar=fterar srgural ¥ T MR g 2 i fhasftadar sgumal #) iR |
qHETS |

SR- Toram=iiadn suTd S e TR UhTR1 STAd & aUl 39! TTUHT & W S5



TR &1 B iRy aUT Ua=d! Bt SR Ied BT Jedidhd BT aidl g | 3 3urdl &
HITH T8 ¢ i ¢ fob SR 3 Iuast] QreHT g arsii &1 R d arHueE o 3
U {1 8 a1 8] |

2 SUTAl &1 0T fashg a1 fasha &t amTd T fafts Trafoal Wow, geR, e fod wirdt
TRt U7 fAf T Sfe & SUR R &1 STl 6. 3fck: 3 SFUTA! dI 3MTad ST
(Turnover Ratio) ﬁﬁ?f%l

<= armad (foramRiterdT srum) 4 §-

(i) TP Y 3ad SIUTd (Stock Turnover Ratio) :

=] 3T SIUTd 1A & Sd Tids BT IR gRT 9 T4 ATA &1 AN (Cost of Goods
Sold) a{aﬁawm&ﬁ@r 3TH &I ARTd (Cost of Revenue from Operations) & 7Y
T R HRAT & | T8 3UTd JdTd & [ TR gRT Wieb | fafFaiford ea=ifr & sfifac
Td AET &1 7afeqdl R f9aR -1 8| 39! TET 9 3 9 &1 T §

Cost of Goods Sold e Cost  of Revenue  from  Operation

|nventory Turnover Ratio = Average  Stock [ nventory

Tare feharsfl ¥ ST & AT (Cost of Revenue from Operations) ARG

Cost of material consumed + Purchase of stock-in-trade + Changes in inventories +
Direct expenses

or

Cost of revenue from operations = Revenue from operations — Gross Profit

\J
3 TP/ P TUMAT -
Opening  Stock4+Closing Stock
Average Stock = 2

F-F o T AT BT AT 31T SATa U SRR B ANl S g1 Sudsy g
B 8 SR 7 8t 39 ANT B! 0T DI ST Tebalt & | T FRUTY § =y S{1add S1ard &1 7TurMT
faishl/Zarer fohanafi & 3MTH & YR TR DI S|

Sales! Revenuwe  from  Operations

Inventory Turnover Ratio = Average  Inventory

HEd - 39 U ¥ F1d Bl & b J=u1 7 Wi fob 71fl A faspa & uRafeldl 81 81§ 3ufq
=] B! ST SUUNT §1 X1 € T a1 | T8 SHIATd FoId1 Sl 81T & ST a1 3T HHT STl
8 Fifeh TR HH A1 &R WR Y S1f a1y 1T ot 81 S9 fauid a8 Srurd fraem ren




BT 8 T8l Wik W SA1aRad Yoil 1l gF &1 Yad ¢ | T fUfT 98 Tiw, Sraftie widb
1 €[H R G -0 BT JI® ¢ |

(i) HTYTRS UT 3Tad S{JUTd (Trade Receivables Turnover Ratio) :

I8 SUId HaI & Yes IUR fAhy D 3N ATuTRes T o WY Tt R Bl
81 T8 ST IdTd g fob TRIT IUR Il & Hal acb T gs ¢ | Il HIs TRIT 30 YT
D! T TR Gl 81 Bt § dl SUDb BN SAaRAD U F Wl H W S | ST T0FT
19 UPR &1 ol 8

Net Credit Revenue  from  Operations

Trade Receivables Turnover Ratio = Awverage Trade HReceivables

gfe Y IYUR fapa o1 IR 71d 7 81 o FUl-H 4t I8 U T IS [dhd & YR R it
1 R foram Sirar g 1 v vt fosan s anfed Siefes Ao fasa &t i o gl |

gfe g8 & UR™ g 3 & ¢1eR! d IUR Ay Tl ofirg Iuas 81 § dl T fasba a
a¥ & %ﬁm@@ S{JUId P O HRA] ﬂT%ffl Trade Receivable Turnover Ratio

Net  Sales
Cloming Recetvables

(i) 3N JIgT 3rafdy (Average Collection Period) :

3 d YUY 3afY I T ot 6t 39 T T g1 o T Y ST AU U
(Trade Receivables) ¥ YFRITRI &1 el Bicht & | T U GRATAT HTUIRSD U 3MTad
3{UId (Trade Receivables Turnover Ratio) tl?ﬁ“—hw_cﬂ%‘l

Noof Days in a Year

Average Collection Period = Trade Fecmivables  Turnover  Rutio

Average Collection Period =

HEd-3ad GUUT 3aft ATaies Ul ¥ agel! § @ aTd IHT &I Udhe vl o | I8
3(afel FHT, AR U 3M1ad 3uld R FHR $l 8, STuRes Ur e Srgurd
ST S BT, SiITa WU 0T 3fafdy It gt &H gt |

TRIT P Zad BT &1 g1+ off HH gHT ISP [AURId ARG U SH1add ST foraT =i
@Tﬂaﬁwgﬂm 3afy Ia-t gt sifdes gt S TR gRT AR Tt &1 ot § ot
YUhc dXdl 5l




uy 4. FRAFR U= T @ T ST § 2 SHST HEd TdTd §9 ISIeR0T Uied SH!
TorET fafer qussa|

IR- fAFIRT IR YA (Return on Investment or ROI)

39 3JUTd ! fAFATT Yot IR U (Return on Capital Employed) 1 &d g | T JRIT
7 fafaT B &1 e IR Yol IR 3 3R BT § | T adrg &1 grguf averiesarn
I A ST ST 3 a1 ST 8 | I8 SIUTd TR & B a1 7ol ¥ gd & oH (PBIT) T
fafraford ol o He ra=i ogad Bl o |

ﬁﬁ@ﬁﬁﬁﬁﬁ (Capital Employed) T 3R TR H T T BT By (Long-term
Funds) ¥ g | Tf fafaifora Uott # Sreerela 01 +f 2nfie 81d &1 ora: Sefara B R
{33 T =TT &1 S AT ! TUMT R 0T A1 & J 161 gerl oifdl |

Net  Profit before InterestTar & Dividends « 100
Return on Investment = Capital  Employed

fafraford goft (Capital Employed) @t 0T - fg & & forsft uep fafd @ &) ot bl @

« Liabilities Side Approach — Capital Employed = Shareholders Funds + Non-
current Liabilities (Long Term Loans + Long term Provision-Non Trade Investment
— Fictitious Assets)

e Assets Side Approach — Capital Employed = Non-current Assets + Working
Capital
Non-Current Assets = Fixed Assets ( Tangible Assets + Intangible Assets) + Non-
Current Investment + Long term Loans & Advances.
Working Capital = Current Assets — Current Liabilities.

W-ﬁﬁﬁ@ﬁ%aﬁﬁWQEﬁFﬁﬁTrade Investmentﬁﬁ'FIT\_rlTaTﬂ ]

e — I8 3JuTd fodl 1t saraeiiies Tl &1 qegul ervardehd Srufd $eieid &
AU &1 FaaH YR § | I8 Ut JdTdl & fob T gR1 fafaifora Uoit &1 farat
HRIAAT & T TN a1 ST IQT ] | 3 SFUTd &1 TgHal § &1 &l Hr-a) o
BRI DI ST B o Thall 5|

Example

7Yy faftres & Y sifws! ¥ fafaiT &R T I1d o)

(Calculate Return on Investment from the following details of Madhu Ltd. : ) Rs
Net Profit after Tax — 6,50,000



Rate of Income Tax — 50%
12.5% Debentures — 8,00,000

Fixed Assets at Cost — 24,60,000
Provision for Depreciation — 4,60,000
Current Assets — 15,00,000

Current Liabilities — 7,00,000
Solution :

(1) Calculation of Profit before Interest and Tax (Operating Profit)
Net Profit after Tax — 6,50,000

Add : Provision for Tax @ 50%

of Profit 6’51%80_0 ;‘05 0 _76,50,000

| 13,00,000

Add : Interest on Debenture 1,00,000
12.5% of 8,00,000

Profit Before Interest & Tax 14,00,000
(2) Calculation of Net Capital Employed—

Fixed Assets at Cost 24,60,000

Less : Provision for Dep. 4,60,000 20,00,000
Working Capital

Current Assets 15,00,000

Less : Current Liabilities 7,00,000 _8_,20_,_@
Net Capital Employed 28,00,000

(3) Calculation of Return on Investment—

Operating Profit . 14,00,000
Net Capital Employed  28,00,000

uy 5. fafranT fazdwor wR ueTr sTeH 9
1. Ufa 37 35,

2. Ufd 37y e,
3. ATHTRI YT Ut &l FHeed |

X 100 = 50%




3dR- (1) ufa i 3t (Earning Per Share-EPS)

ufd 37T 35 Y T SreTial & Iudsy Al B THdT 3= D1 TWAT BT HIT SH B
Sl ® 1 U8 U fa<iir SuTd § S I8 a1l § fob Udies T 3R 0R foret
3T AT Bt TS B

G M (AS) 20 & SHR, THAT SR o foI Iueisy ATl b1 0T Hd TH9Y
UaifIhR 31 AU &1 YerdT Sa|

Net  Profit  after  Tar—Preference  Share  hvidend

Earning Per Share (EPS) = No.of  Equity Share

T — U STUTT FHT SUTRET 1 =¥ I Heedqul Bl &1 I8 3IUTd FHT 32N b FTelR
Hed D1 W UHIfad BT & | Ul 3T 3ot T el ST Shu=t & SfeiT BT 3foi a1l §
3 BT | Y ST B AT H gieg BRI qUT Yolt ol AT =T S g

(2) ufd Sf=T ATHiRT (Dividend Per Share DPS)

U 3T ATHIRT 31 &1 98 HFT § S T SRl § faafkd ardier & g i1 & wwar

3N Y TBAT BT HFT 1 TR 3Tt g | UfeT 372 T I8 A1d 81l & b JHdT Siem} fha=n arv
T HRA o1 SMABRY & fheg T8 o 1M 3 T 18] 8T | ST 38 & AT &1 Th

YT 0 gRT Aeb Fordn ST 81 A Ry &) arvig =0 § 3 Ui gt 2

Ihvidend  Paid  to Eguity  Share  holder

Dividend Per Share = Number of Equity Shares

(3) ATHIRT QA 3fJUTd (Dividend Payout Ratio)

g 3uTd THdT el # faafkd o T3 vl ofer amui=T &1 Taw Ul 3i=1 36l & A1y
RITT FHRT || T ST & b THar SiR1emial @ wafRid st o1 foamr 4RT (3raTd)
3Ig AT =0 H faafvd fsar mar g |

.. . Dhvidend  Per  Share w1010
Dividend Payout Ratio = Farning Fer Share

e ATYIRT YT SUTd 1 100 H ¥ °eT faar Sie ot el ot a8 iR Sl TR A bt
&7 B SR | S TSt et T SHTY QAT SIUTd 65% B d ST Uiaenid 3
3{UTd 100 — 65% = 35% BT

ifed UM
uy 1. Fafafea uifRufaal & R, srurdl vd ava srural &1 uRea ifore

(Calculate Current Ratios and Liquid Ratios in following conditions :)



(a) Current Liabilities 48,000; Inventory 78,000; Working Capital 96,000

(b) Working Capital 40,000; Liquid Assets 10,000

(c) Current Assets 2,00,000; Creditors 10,000; Current Liabilities 80,000 & Inventory
60,000

IWR-

(a) 3:1
(b) 2.33: 1
(€ 25:1,1.75: 1

Current Aszsets

(1) Current Ratio = Turrent  Liabilities

Current Assets = Working Capital + Current Liabilities
x = 96,000 + 48,000 = 1,44,000 Current Assets

1. 44 000
Current Ratio = 48.000 = 3:1

(2) Working Capital = Liquid Assets + Current Liab.
40,000 = 10,000 + x
x = 30,000 (Current Liab.)

Current Assets = Working Cap. + Current Liab.
x = 40,000 + 30,000 = 70,000

70,000

Current Ratio = 30.000= 2 33:1

Current Aszzets

(3) (A) Current Ratio = Turrent  Liabilitics

200,000

= F0000 = 2.5:1

Current Azzets

LIqUId Ratio = Turrent  Liabilitics

140,000

= E0.000 = 1.75:1

Liquid Assets = Current Assets — Stock

= 2,00,000 - 60,000 = 1,40,000



uy 2. fFufataa #i ga sifce

(Solve the following :)

(A) T I b Te] ST 4,00,000 & | SHBT AT FHRIAL. 2.5 : 1§ YT TR SFFUTA 1.5:1
2| TS JHI ], R SR aul Wb &1 Jed J1d Hifod |

Current Liabilities of a company are 4,00,000. Its current ratio is 2.5 : 1 and Liquid Ratio is
1.5 : 1. Calculate the value of current assets, liquid assets and inventories.

(B) I, AT 3UTd 2.5 TRAdT U 1.6 TUT BRI oit 90,000 BT Al AT TRl ATQ,
IR a1 b Bl e JTd IS |

If the current ratio is 2.5, Liquidity ratio is 1.6 and working capital 90,000. Find out the
value of current assets, current liabilities and stock.

3TiR-
(A) 10,00,000, 6,00,000, 4,00,000,

(B) 1,50,000, 60,000, 54,000.

. : Current Assets
(A) (1) Current Ratlo = & ot Tiabilities
2:5 C.A.(x)
1~ 4,00,000
x = 4,00,000 X 2-5 = £10,00,000
— : Liquid Assets
(i) Liguid Ratio = o ent Linbilities
1-5 _ Liquid Assets (x)
1~ 4,00000

x = 4,00,000 x 1.5 = Rs 6,00,000

(iii) Stock = Current Assets — Liquid Assets
Stock = 10,00,000 - 6,00,000 = 4,00,000
(B) T8 HIHT 7T § fab 1] &M x B

(i) I Ul = 2.5:1
Working Capital = Current Assets — Current Liab = 90,000



90,000 = 2.5x — x
1.5x = 90,000

x = 90,000 + 1.5 = 60,000 Current Liab.
Current Assets = 2.5 1[I

60,000 x 2.5.= 1,50,000

3{l: T JHfT = 1,50,000

. . . Quick  Assets
(i) Quick Ratio = Tarrent  Liabilitics

16 _ =
1 — 60.000

x = 60,000 x 1.6 = 96,000 Quick Assets
(iii) Stock = Current Assets — Quick Assets
= 1,50,000 — 96,000 = 54,000 Stock

wy 3. T for. Y Frafeafea gaesit 9 aRefaa sife

(i) FBUI-THT 34T,
(ii) Tl 3uTd o
(iif) RMET &FAT U |

From the following informations of Garg Ltd. calculate :

(i) Debt-Equity Ratio,
(if) Proprietary Ratio,
(iii) Solvency Ratio

H}fﬂﬂ'ﬁlﬁf (Tangible Assets) Rs 3,00,000, ﬁ'\’ﬂ'ﬁﬁﬁ?ﬂ"'{ (Non-Current Investment) Rs
2,40,000, STUTRS U (Trade Receivables) Rs 90,000, 3= AT ¥l (Other Current
Assets), Rs 70,000, §TH@Te U (Long Term Borrowings) Rs 2,00,000, IHaTei STae
(Long-term Provisions) Rs 1,00,000, 3B IUR (Short-term Borrowings)Rs 20,000,
3= 9T U (Other Current Liabilities) Rs 60,000.

[C5:CH



o . _ Total Debts _ External Equity
() Dbt Fguity Ratin, = Equity Internal Equity

3,80,000 . oo
= 320000 = 118751

; . _ Proprietors Fund
(2) Proprietory Ratio = Total Assets

3,20,000 _ A 4em. g
= 7.00,000 =0-457:1
Proprietors Fund = Long-term Borrowing + Long-term Provision + Short Term Borrowin,
= 2,00,000 + 1,00,000 + 20,000 = 3,20,000
Total Debts _ 3,80,000 _ 0-543 : 1
Total Assets  7,00,000 ?

(3) Solvency Ratio =

Total Debt = Long-term Loan + Long-term Provision + Short-term Borrowing + Other
Current Liab.

= 2,00,000 + 1,00,000 + 20,000 + 60,000 = 3,80,000

Total Assets = Tangible Assets + Non-current Investment + Trade Receivable + Other
Current Assets

= 3,00,000 + 2,40,000 + 90,000 + 70,000 = 7,00,000
Yy 4. Fufafed faazon @

(i) URMR® Wh,
(ii) Sff~T TH=I T4 TR UT 3HTad ST DI TTUMFT HIOTT:

From the following details, calculate

(i) Opening Inventory,
(i) Closing Inventory, Trade Receivables Turnover Ratio.

URETaH feharafi ¥ 3MTH & AFTd (Cost of Revenue from operations) Rs 4,00,000, T&hd
Y faspd R 20% (Gross Profit 20% on sales) ¥h =/ 3Tad S3{UId (Stock Turnover Ratio) 5
times, 3~ WH=, TRTRYS W= I Rs 32,000 3P 1

(Closing Inventory is 32,000 in excess of opening inventory), URTS ARG W
50,000 (Opening Trade Receivables is 50,000), 3if=H ATUR® UM, URAIH AR
U &l 1.5 UflT%I (Closing Trade Receivables are 1.5 times form opening Trade
Receivables.)



3R: (i) 64,000

(ii) 96,000
(iii) 8 times.
i . _ Cost of Goods Sold
(i) Stock Turnover Ratio = ey
] - 4,00,000
1 X
5x = 4,00,000
x = 80,000 Average Stock
Average Stock = Ope@g&ock; Closing Stock
ik 2
80,000 _ 2x + 32,000
1 2
~2x = 1,60,000 — 32,000
2x = 1,28,000
x = 64,000
g WRAEF WhIET = 64,000

() 3w @fear (64,000 + 32,000) = 96,000

(iii) Trade Receivable Tumover Ratio
Total Credit Sales

= Average Receivable
Credit Sales = Cost of Goods Sold 4,00,000

Gross Profit on Sales 20% = 4,00,000 X %% = 1,00,000

Total Sales = 4,00,000 + 1,00,000 = 5,00,000
Average Receivable = Opening Receivable + Closing (l% T of Opening Receivable

= 50,000 + 75,000 = -‘—'—2-52#‘0—0 = 62,500

. 500000 ..
qd: = _62.500 = § times.



wy 5. Frafafaa @ amaive e srad Ut U SfivTd Tugur 3@t &1 o

Calculate Trade Receivables Turnover Ratio and Average collection period from
the following:

9 & uRareq Pl 3TH (Total Revenue from operations for the year) 8,23,000; &<l
3{ITH &1 50% b URATA 3TH (Cash Revenue from operation being 50% of Total
Revenue); IR ARG T (Opening Trade Receivables) 50,000; TN U1
Addh ¢ U (Cash received from Trade Receivables) 3,76,500; mﬁa@m (Discount
Allowed to Debtors) 15,000; 3¥UR URETE 3T I araa (Revenue from operations
return, out of credit revenue from operations) 10,000.

JdR: (i) 7.3 times, (ii) 50 days, Hint : Prepare Receivables Account and find closing
balance 60,000.

(@) Total Sales 8,23,000

Less : Cash Sales 4,11,500
Credit Sales 4,11,500

Less : Return Out of Credit Revenue 10,000
Net Credit Sales © 4,01,500

Trade Receivable Opening = 50,000
Trade Receivable Closing = 4,11,500 — 3,76,500 + 15,000 + 10,000 = 60,000
Credit Sales
Average Receivable
= 55%% (50,000 + 60,000 + 2) = 7-3 times
12 Month/365 days
Trade Receivable Turnover Ratio

365
7 50 days

s 6. Fafafaa a=mei & Jdba a1H guTd 3 1T HIfoTT-

Trade Receivable Turnover Ratio =

(2) Average Collection Period =

(Calculate Gross Profit Ratio. from the following information :)

aRETa I ddhe RTH (Cash Revenue from Operations). 40% of Total Revenue; $d hd
(Total Purchases) 13,50,000; IR I 3RTH IUR (Credit Revenue from Operations)
9,00,000; URIR® Wh=4 T 3118 Ih4 &1 HUHY (Excess of closing stock over opening
stock) 75,000.



I 15%

Cash Sales 40% of Total Sales
Credit Sales = 9,00,000

Cash Sales = fix 9,00,000 = 6,00,000
Total Sales = 15,00,000

Closing Stock = (75,000 + x)

Opening Stock = x

Gross Profit = (Total Sales + x + 75,000) — (x + 13,50,000)
Gross Profit = (15,00,000 + 75,000 + x) — (x + 13,50,000)
Gross Profit = 15,75,000 + x —x + 13,50,000 = 2,25,000

: Gross Profit
Gross Profit Ratio = Total Sales

¢ 2,25,000 .
Gross Profit Ratio = 15.00,000 X 100 = 15%

wy 7. - fo1. ot Frafafea gaaret & o sifore

From the following informations of Tanvi Ltd. Calculate

(i) PRt Goft 3IIUTd (Working Capital Ratio), (ii) fd SIATd (Quick Ratio); (iii) ¥
S3{UId (Inventory Turnover Ratio); (iv)

(Inventory Turnover Ratio); (iv) 9P d &TH HJUId (Gross Profit Ratio); (v) Qﬁ‘iﬁ &HdT
3{UId (Solvency Ratio), (vi) b ¢TH JUId (Gross Profit Ratio); (vii) IREINE S{JUld
(Operating Ratio), (viii) tlﬁ?{IFIT-TET‘J-[ 3UId (Operating Profit Ratio), (ix) R[& ¢H 3AJUTd
(Net Profit Ratio) FEHTQ (Informations) R I 31 (Revenue from operations)
2,00,000; Y (Purchases) 1,20,000; TR D Th= (Opening Inventory) 12,000; 3ff=<aH
Ih Y (Closing Inventory) 18,000; Iﬁlﬁ I

(Wages) 8,000; faehg =g ( (Selling Expenses) 2,000; qﬁwrd’rw%m (Tangible Fixed
Assets) 2,12,000; 3= %nqatcrf%im (Other Current Assets) 50,000; dTe] &A@ (Current
Liabilities) 30,000; THAT 31 YT (Equity Share Capital) 1,00,000; 7% JaifIeR 321 goit
(7% Preference Share Capital) 80,000; TIY (Reserves) 10,000; TUT 8% FBUMTH (8%
Debentures) 60,000.

3R

(i) 2.27 : 1,



(i) 1.67 : 1,
(iii) 8.13 times,

(iv) 047 : 1,

(v)0.32:1,

(vi) 39%,

(vii) 62%,

(viii) 38%,

(ix) 35.6%.

. _ __ Net Sales
(1) Working Capital Ratio = Working Capital

38,000
_Net Sales = Purchase + O/S - C/S
= 1,20,000 + 12,000 ~ 18,000 = 1,14,000
Working of Cap. = Current Assets — Current Liab. Stock
= 50,000 + 18,000 — 30,000 = 38,000
Liquid Assets 50,000

@ Liquid Rallo = & o rent Tiab, — 30,000~ 1'67+1
. _ Cost of Goods Sold
3) ~ Stock Turnover Ratio = Average Stock

Gross Profit = (Sales + Closing Stock) — (Purchase + Opening Stock + Wages)
= (2,00,000 + 18,000) — (1,20,000 + 12,000 + 8,000)
2,18,000 — 1,40,000 = 78,000 Gross Profit
Cost of Goods Sold = Net Sales — Gross Profit
= 2,00,000 — 78,000 = 1,22,000

122000 18 300 + 12,000 + 2) = 8-13 times

Stock Turnover Ratio = 15,000



. _ Gross Profit
C)) Gross Profit Ratio = Net Sales 100

_ 78,000 x 100 _
= 200000 0%
QOutside Liabilities
Sharehoiders Fund
Outside Liabilities = Debenture 60,000
Shareholders Fund = Equity Share Capital + Preference Share Capital
+ Reserve, and Surplus
= 1,00,000 + 80,000 + 10,000 = 1,90,000

; 60,000 _ . ..
Solvency Ratio = 1.90,000 — 0-32:1

. Cost of Revenue from Operation + Operative Exp.
Operati = = 1
©) R Bt Net Revenue from Operation . 2
1,22,000 + 2,000
=000 *10

_ 1,24,000 "
= ————2'00’000 x 100 = 62%
Operational Profit
Net Revenue Operation

78,000 — 2,000
=00000 >0

(5) Solvency Ratio =

x 100

(7)  Operating Profit Ratio =

76,000
R L0 s..0 8 i
~ 2,00,000 " 100 R

. Net Profit
(8) Net Profit Ratio = Net Sales x 100

Net Profit = Operative Profit — Other Operative Exp. — Other Non-operative Exp.
+ Other Operative Income

71,200 R

3.00,000 x 100 = 35-6%

wy 8. BYH fo1. &Y Fraferfaa gamnsit @ sma sifere

(From the following informations of Rishabh Ltd. find out : (i) ¥ ¢ dIH 3JUId (Gross
Profit Ratio), (ii) SRS S3{JUId (Operating Ratio), (iii) IR INERNIE 3{JUId (Operating
Profit Ratio), (iv) Y& CITH AHJUId (Net Profit Ratio), (v) faf o R (Returm on
Investment), (vi) ol ST 3{UId (Interest Coverage Ratio)

= 76,000 — 4,800 =

Wﬁ (Informations)-SdTeid foaTafi § 3ITH (Revenue from operations) 4,00,000,
TaTe foparef T ST &t dRTd (Cost of Revenue from operations) 2,25,000, NI CANIG



FU TR ST (Interest on Short-term Loan) 5,000, HHATET g (Office Expenses) 25,000,
faa &7 (Selling Expenses) 50,000, UK fahRTT (Rent Received) 4,000, 33 T BT (Loss
by Fire) 10,000, E&WW‘RW (Interest on Long-term Loan) 10,000, HHRE UTd
(Commission Received) 5,000, ﬁﬁ@ﬁiﬂqﬁﬂ (Capital Employed) 6,00,000, SRR Pl &R
30% (Income Tax rate 30%)

3R
(1) 43.75%,
(ii) 75%,
(i) 25%,
(iv) 14.7%,
(V) 15.67%,
(vi) 9.4 times.
(1) Gross Profit Ratio
Gross Profit = Revenue Operation — Cost of Revenue
= 4,00,000 — 2,25,000 = 1,75,000 G.P. (Gross profit)
. _ Gross Profit
Gross Profit Ratio = NetSales * 100
1,75,000 3
= 4.00,000 X 100 =43:75%
. . _ Cost of Goods Sold + Operating Exp.
(2) Operating Ratio = "Net Sales x 100
2,25,000 + 25,000 + 50,000 _ 3,00,000 co
3 400,000 =~ 200,000 A =TE
(3)  Operating Profit Ratio = 100 — Operating Ratio
=100 — 75 = 25%
(4) Net Profit Ratio

Net Profit before Tax = Gross Profit + Rent Received + Commission Received
_ (Interest on Short Loan + Office Exp. + Selling Exp.) + Loss by Fire + Int. on Long-term Loan
= 1,75,000 + 4,000 + 5,000 — (5,000 + 25,000 + 50,000 + 10,000 +
= 1,84,000 — 1,00,000 = 84,000



Net Profit after Tax
84,000 —~ 30% of 84,000

84,000 — 25,200 = 58,800
Net Profit

Net Profit Ratio = Total Sales x 100
. _ 58,800 W——
. Iqq: = —4,00’000 X 100 = 14-7%
(5) Return on Investment |
_ Net Profit before Tax & Dividend _ ,
| Fe Capital Employed
84,000 + 10,000 94,000
2 = -t = 15:67%
6.00,000 x 100 6.00,000 x 100 = 15-6
(6) Interest Coverage Ratio
- __ Net Profit before Tax and Interest
- Interest Payable
.= 24000 _ o 4.
IqA: = 10,000 9-4 times

uy 9. fFRafafed =i &

(i) fy ST 31ot,
(ii) DTl ST STHIRT, T
(iii) TR YT ST Dt TOHT BT |

From the following informations, calculate

(i) Earning Per Share EPS,
(i) Dividend Per Share-DPS,
(iii) Dividend Payout Ratio.

HR J 151 ¥ G4 ATH (Profit Before Interest & Tax) 5,00,000; U Iel F0T UR TS
(Interest on Long Term Loans) 2,00,000, of B & ford 3o (Provision for Tax)-30%,
WTFEE 3{I (Retained Earnings)-60,000, YHdT 39 tlﬁﬁ 10 Ufd 3 § faHTiorg (Equity
Share Capital Divided into Shares of Rs 10 each)

[C5:CH
()7,

(i) 5,
(i) 71.43%.



(1) Earning Per Share (EPS) ‘
Net Profit after Int. & Tax
No. of Equity Share
Profit before Tax — Int. on Long—term Loan — Tax
5,00,000 — 2,00,000 — 90,000 = 2,10,000 ‘

2,10,000 _
30000 ~ !

(2) Dividend Per Share

Dividend Paid To Equity Shareholders
No. of Equity Share

2,10,000 - 60,000 (Retained Earning)

= 1,50,000 s
30,
2 : . _ Dividend per Share
(3) Dividend Payout Rauq ™ “arning Per Share x 100
=2 X 100 = 71-43%
WY 10. YS! g GaTE &t W1l §
(Following informations are given to you :)
Revenue from operation 6,00,000
Less : Purchases 3,00,000
Changes in Inventories (Opening Inventory —
Closing Inventory) (60,000 ~ 40,000) 20,000
Direct Expenses 80,000 4,00,000
Gross Profit 2,00,000
Balance Sheet

(As at 31st March, 2017)



Amount

Particulars, Note No.’
L. Equity and Liabllities v
(1) Shareholder’s Funds :
(a) Share Capital 4,00,000
(b) Reserves and Surplus 1 2,00,000
(2) Non Current Liabilities (10% Debentures) 1,00,000
(3) Current Liabilities,
(a) Trade Payables 2,00,000
(b) Other Current Liabilities 1,00,000
Total ~10,00,000
IL Assets .
(1) Non-Current Asse 5,00,000
(2) Current Assets,
(a) Inventory 40,000
(b) Trade Receivables 2,60,000
(c) Cash and Cash Equivalents 2,00,000
Total 10,00,000
Reserves and Surplus T
Note : 1 General Reserve 50,000
Profit & Loss 1,50,000
2,00,000

SR & T GRS & YR W 0T ST
OEISEEEIRS

(ii) el AJUId,

(ili) TP ST,

(iv) SBUT FHdT 30T,

(v) TH 3T T,

(vi) TR W 3Tdd AT,

(vii) STATR <TdT 3MTdd 3Ud,



(viii) Heh el oTH AJUld
On the basis of the informations given above calculate :
(i) Current Ratio,

(i) Liquid Ratio,
(i) Proprietory Ratio,

(iv) Debt-Equity Ratio,

(v) Inventory Turnover Ratio,

(vi) Trade Receivables Turnover Ratio,
(vii) Trade Payables Turnover Ratio,
(viii) Gross Profit Ratio.

[CE ¥

(i) 1.67 : 1,

(i) 1.53 : 1,

(iii) 0.60: 1,

(iv) 0.67 : 1,

(v) 8 times,

(vi) 2.3 times,

(vii) 2 times,

(viii) 3339,



2

3

@

&)

. _ _ Current Assets
M Current Ratio =7 et Liabilities

5,00,000
proap—d dud LA ApeSay I8 .
3.00.000 1:67:1
Liquid Assets
Current Liabilities
4,60,000 . ...
-=3’00’000-=l 53:1
Liquid Assets = Trade Receivable + Cash & Cash equivalent
= 2,60,000 + 2,00,000

. . Proprietory Fund
Proprietory Ratio Total Assets

Proprietory Fund = Equity Share Cap. + Reserve & Surplus
4,00,000 + 2,00,000
= 500000 _, ..
10,00,000 ~ 26*1
. 5 External Liabilities
Debts Equity Ratio = 3. 0 ol Liabilities
4,00,000 _ .
'6.00.000-0 67:1
External Liabilities = Debenture + Trade Payable + Other current Liab.
= 1,00,000 + 2,00,000 + 1,00,000 = 4,00,000
Internal Liabilities = Equity Share Cap + Reserve Surplus
= 4,00,000 + 2,00,000 = 6,00,000

. Cost of Goods Sold
Stock Turnover Ratio = Average Stock

Cost of Goods Sold = Revenue from Operation - Gross Profit
= 6,00,000 - 2,00,000 = 4,00,000
Average Stock = 60,000 + 40,000 + 2 = 50,000

4,00,000
50,000

Liquid Ratio =

= § times
Credit Sales  _ 6,00,000

(6) Trad_e Receivable Turmover Ratio = A eReceivable — 2.60,000 = 230 times

Credit Purchase _ 4,00,000

(7) Trade Payable turnover Ratio = ‘Average Payable = 2.00,000 2 times

(8) Gross Profit Ratio = SToSSPofit . 100 _ 200000 , 46y _ 5314

Net Sales 6,00,000 3



